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1. {a) Enpiﬂm four factors that should befonsidered by the management of n_m__ ¢ limited

w . “Company'whea designing its kapital sucture § (R sy
- designing L

l(:l}) The following information relates to Ketami Limited for the year ended

=t ' 31 December 2017:
KEsh. i
Credit sales 1,700 000 :
Credit purchases T20 (000
i Accounts receivable 480,000
Accounts payable 350,000
Cost of zales | 840 000
Inventory (1 January 2017) GO0 000
Inventory (31 December 2017) 80,000
. Take one year to be 365 days,

Determine the working capital cycle of the company. -
{12 marks)

ot

i {a) Explain four ways in which capping of interest rales in an geonomy may affect the
I:Egl.inns of commercial banks. (8 marks)

—"  (b) The following capital structure relates to Zama Limited as at 31 December, 2017:

Ksh.
2 000 000 ordinary shares of Ksh. 18 eaeh ELELHRELLL
12% debentures of Ksh. 1 (0 each 4 000,000
1,000,000, 10% preference shares of Ksh. 6 each 6 (00 D00
14% bank loan 10,000 000

|:"'-|

The market price of an nrdinanSshare is Ksh. 30,

The ordinary shareholders have just received a dividend of Ksh. 2 per share and it is
expected to grow at 5% per annum.

Corporation tax rate is 30%.

Determune:

{1} the cost of each component of capital;
{il)  the weighted average cost of capital (WACC).
(12 marks)
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A} m:,__ﬂ\.::-“::,
Explain four limitations of the profit maximization g firm. “2a5\(h@kgGOMm
Janet intends to save an amount of money in bank X, bank Y or bank 2. She deposits

Ksh. 1,200,000 at the beginning of the first year and Ksh. 800,000 at the beginning of

the second year.

The following mformaton relates to the banks:

Bank Interest rate per annum Terms

X 6% . : ﬂnrll'npuundﬁl quarterly

Y B ; : Simple interest :

Z {% i Compounded semi-annually

(1) Determine the amount of money Janet expects o receive al the end of the two
years from each of the banks X, Y and £, '

(11} Advise Janet on the bank to save in
(12 marks)

Explain four differences between ordinary shares and preference shares. (8 marks)

T
Zango Limited intends to invest Ksh. 4,800,000 in either Project Alpha or Project Bets.
The expected net cash inflows from each of the projects i.'-'.__ﬂ._i‘. follows:

Year Alpha Beta
Ksh. Ksh.
L a0 23000 T - -
2 [ 700.000 | 800000
3 1,200,000 1000000 :
4 900 000 800,000 4 s
The compeny's cost of capital is 14%, =

(1) Determine the Net Present Value (NPV) for each project
L ;
(i)  Adwvise the management on the project to invest in.
(12 marks)
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5. (a)

(b}
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Explain five ways in which ﬂhMﬂ_l‘lﬂl hm:q may manage foreign ux{iant 1T

l_'lﬂmarl:q}

The following balances were extracted from the statement of financial position of
Kotam Limited as at 3] December, 2017,

Ksh.
Accounts receivable 1 200 000
Inventory (31 December 2017) 50 000
Bank 1,300 000
Creditors 00,000
Ordinary shares of Ksh. 50 each 10,000,000
Additional information:
- The net profit after tax for the year ended 31 December 2017 was

Ksh. 1,500,000,
- The firm’s dividend payout ratio is 40%.
- The current market price per ordinary share is Ksh, 45.

Determine:

(i) Return on Equity (ROE),
(i)  Dividend per share (DPS);
(i)  Earnings per share (EPS);
{iv)  Acid Test Ratio;
{v) Price Eamings Ratio (PIE).
(10 marks)
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6 () Explain four ways that a firm may use (o manage its book dehts. e Eﬂ&gﬂmet. cCom

\"ﬁ' (b Menso Limited intends to invest Ksh. 2,000,000 in project PO, The following are
the expected net cash inflows and associated probabilities from the project under
different states of economy.

State of :
Probability Year 1 Year 1
Economy

Ksh. Ksh,

i 03 3000000 - 2500000 o
i 02 2 000,000 2 000,000

m 0.3 1,000,000 1,500,000

The company’s cost of capital is. 85,
L) Determine:
(N the expected net cash inflows.
() the expected net present value,

(i)  Advise the management whether to imvest i the project or not.

{12 marks)

. " i
@ {a) Explain five factors that should hl:‘i_:ggsidpmd when undertaking wm i
firm | - (10 marks)

(b) Betah Limited intends to Purchase Four machines A, B, C and D. The company has a
maximum of Ksh. 4,000,000 available for the investment. The following details relate
to the machines:

Con ot Machine

¥ '*;-.'ﬁﬂ"j‘ L] A B [ [}
) Ksh. Ksh. Ksh. Ksh.

Initial cost 1,500,006 1300 900,000 1,200 4K}
Net Present Valu

(NPV) 144 300 | 98 200 123 450 -10.500

(i) Determine the profitability index | or each machine,
(it} Rank the machines based on the profitability index in (1) above.

(10 marks)
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